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#finclude<stdio. h>
int VendingMachine (int price, int input[5], int output[5]);

tdefine TBLSIZE 5
static int money[] = {1000, 500, 100, 50, 10},
stock[] = {0,10, 10,10, 10};

int main() {
int inputl[TBLSIZE];
int outputl[TBLSIZE];
int pricel;
int ret;
int 1i;
printf ("FF &I Z AT LT EES W, ¥n’);
scanf ("%d”, &pricel) ;
printf ("%d23pGsaflids & LT AT SE L7, ¥n”, pricel);
printf "HERTEE~DODEASEHELE AN LET, ¥n");
for (i = 0;i<TBLSIZE;i++) {
if (i==0) {
printf ("%dMH L DO A A AJI L T ZE VW, ¥n”, moneyl[i]);} D

else{
printf ("%dMHEE DOR A EZ AT LT E ISV, ¥n”, moneylil);}
scanf ("%d”, &inputl[i]);
printf ("%dMH AJJ S F L7z, ¥n”, inputl[i]*moneyl[i]);

}
ret = VendingMachine (pricel, inputl, outputl);

printf ("3 DI : %d¥n”, ret) ;



if (@)
for(i = 0;i<TBLSIZE;i++) {
printf ("%dMH OB E Y %d#¥n”, money[i], outputl[i]);

}

return 0;

int VendingMachine (int price, int input[TBLSIZE], int output[TBLSIZE]) {
int change, k, paid, retval;
paid = 0;
for (k = 0;k<TBLSIZE;k++) {
paid += inputl[k] * moneyl[k];

}
change = paid - price;
if (@) {
for (k = 0;k<TBLSIZE;k++) {
output[k] = change / moneylk];
if (outputl[k] > stockl[k])
output[k] = stock[k];
change —= outputl[k] * moneyl[k];
}
if (change > 0) {
for(k = 0;k<TBLSIZE;k++)
output[k] = input[k];
retval = -1;
Jelsed
for(k = 0;k<TBLSIZE;k++)
stock[k] = stocklk]+input[k]-outputl[k];
retval = 1;
}
Jelsed
for (k = 0;k<TBLSIZE;k++) {
outputlk] = 0;
stock[k] += inputlk];
}
retval = 0;
}

return retval;
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finclude<stdio. h>
int main() {
int a =7, b = 10, ¢ = 3;
a-—=b>b/ c;
ct=b —-a% c;
a= (c - b) * a;

printf ("%d”, a); ©)

return O;
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#finclude<stdio. h>

int main() {

int 1 =5, j =17, k;

k = ++i * —3;

k =i+t + k / j=—;
k=1*% j - k;

printf ("%d”, k); ©)

return O;
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finclude<stdio. h>
void main() {

int 1i;

char c[3][6];

char* p;

p=cl[0];
for (i=0; i<3;i++){
printf ("word[%d] :”,i+1); scanf ("%s”,cl[i]);

}
for (D) {
printf ("%s¥n”, ©@);
}
}
[ 45 A 31 ]

word[1] :wan
word[2] :lan
word[3] :sns
sns
lan

wan
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